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rth Semester MBA Degree Examination, Jan./Feb .2023
lnternational Financial Management

'l'ime: 3 hrs. Max. Marks:100

Note: 1. Answer any FOURfull,,q"*estionsfrom Q.No.l to QNo.7.
2. Question No.8 is compulsory.

a. what is International Finance? (03 Marks)

b. Discuss the factors affecting tle ciw of FDI and FPI into a Country. Q7 Marks)

c. Prepare BOP statement for India with the help of followffiinformation. Also find current
account balance, Capital account balance and overall balance.
i) India export goods wqrth Rs 50,000/- ,

ii) Oil lmports worth,Rs 3,00,000 from Gulf Colixltry.
iii) Expenditure o-f Foreign Tourists in India Rs 15,000/-.
iv) Software expo s to USA from India Rs 1,00,000/-.
v) US Company,,,invests in India Rs 2,00ffi0i-.
vi) lndians buy US stocks Rs 50,000/-.
vii) Dividends received Rs 5,000/-.

Differentiate between Spot and Forward rate.
Who are the major participants of forex market? Brie,fly-'explain.

2a.
b.

c.

3a.
b.

c.

Briefly explain the various methotlhof International brrsiness.

From the following data, calculate the possibilities of,a gain or loss in arbitrage :

Spot rate FFrs 6.0000 : $ 1 ; 6months forwardrate is FFrs 6.0020 : $ 1 ;

Annualised lnterest rate orii'6 rtbnths in USA 5% ;

Annualised Interest rateion 6 months in France is 8%.
A Company has to makevd Us $ 1 million payment in 3 months time.

a. One month USD/I-NR -+ 60. t275 -.60.1315 ;

One month USD / Euro -> 1.3590 -'11.3610
Find the Bid & Ask rate between Euro / INR.

b.

Convert

Define BOP,

Outline the evolution of International Monetary System.

the cash flow of both companies and the bank.
I of3

Cornpany A and B have been offered the following rates per annum on a $ 20 million five
year loan.

Cornpany Fixed Rate Floatine Rate

A t2% LIBOR + O.I%
B 13.4% LIBOR + 0.60/o

A requires a floating rate loan and B requires fixed rates. Design a swap that will net a bank

acting as [ntermediary, 0.1% p.a. and equally attractive to both companies. Clearly explain
(10 Marks)



a. A foreign trader assesses

€/$exchangerate.

2OMBAFM406

the euro exchange rate 3 month ,hence as Ibllows. Computc thc
(03 Marks)

Probability 0.2s 0.50 ,o.25

€/$ l.t I 1.13 1. 15

6a.
b.
c.

b. Write a short note on "Correspondent Bank". , : (07 Marks)

c. The direct quote in Tokyo for Peso is given as Y 28.8358/MP (Bid) and Y 28.87251M1'

(Ask). In Mexico city 0.04418/0.04488.;G4J.gulate Bid - Ask spread as percentagc of Ilid
price from the Japanese & from Mexical'perspective.

What is Plain Vanilla Swap? ,,, ' "'

Explain the rationale behind pp-lhasing power parity. (07 Marks)

Modern Pharma Ltd., an Indid6.based MNC is evaluating an overseas lnvestment proposal.

The project requires an initia-f,.,outlay of US $ 100 million and it is expected to givc cash

flows over a life of four ,S.

Years I ) J 4

CF ($ in million) 30 4A 50 60

The current spot,eXehange rate is Rs 45l- for US $, Rr in India is llo/o and in LJS 6o/u.'L'hc

Modern Pharnia,riguires a rupee return of 15% on the above project. Calculatc thc NI'V of
project undeq

i

07 
I

(10 Marks)

(03 Marks)
(07 Marks)

Its balance shcct in
Thc January I 2021

(10 Marks)

(03 Marks)

(10 Marks)

7a.
b.

c.

What is SDR?
Explain the methods used"tocover Interest rate,'rj-sl(.

Farm product is Canadi,6n..affiliate of a US manufacturing company.
thousands of Canadian'dollars , from Jan. I 2021 is shown below.
exchange rate was C $ 1.6/$.

D Determine &rco.products accountjng"expenses on Jan 1, Z02l using Current Ratc mcthod
/ Monetary / Non - monetary method.

ii) Calculate fatm product contribEtibn to its parent accounting loss if the exchangc ratc on
Dec 31, i12l was C $ 1.8 gffir$. Assume all accodnts remain as they were at the

home currency. Exchangen*a te tbr
,,Year 1 2 3 4

Exchanse Rate (per Dollar) 47.t2 49.32 51.64 54

beginning of the year.

"'",I'drrn oroduct B/S (thousands of C $i

Liabilifie,t C$ Assets ,c$
?pq,Q
3.]0,01
2.20.0

Capital 6.20.000 .Net plant & equipment
Lone teim.debt r.60.000 Inventory
Curr,cntlliabilities 60,000' Account receivables

Cash 1.00

Total ;8#0,000 Total 8,40,
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180 day

hedge as

(20 Marks)

CASII, STUDY (Compulsory) :

DC corporation required f 1,00,000 in 180+y
fnnrznrrlrnfeisql4t/f ";
forward rate is $ 1.48 / f.
lnterest rate were as follows '. ,..,

The Company has following

DC corporation is a US based software consulting fiM" speci alizing in software for several

fortune 500 clients. It has offices in India ,r:r$.h'$*UK Europe and Australia. In 2021,fortune 500 clients. It has offices in India ,#*UK Europe and Australia. In 2021,
DC corporation required f, 1,00,000 in l80 $'FSuppose spot rate $ 1.50 I f.. 180 day

''t-

i) A 180 day call option i
ttion available to it : 

"-.-"'l**"
a strike price of $1.4$ffihnd premium of $ 0.03/f.

iD A 180 day put option an exercise price of S 1.50/f and a premium of $0.02lf.

Given the above dae; the fol for constructional
applied to payables. 

"'..,,''i) Hedging in tlii-u rward
ii1 neaging iaWburrency options marl

market .1ii)4ledging in money market
r options market+,

iii) spot rate on the l8@a4tiyis $1.46lf.
Given the above dae,\ffibmine the fi
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